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ELECTIVE COURSE : COMMERCE 

ECO-2 : ACCOUNTANCY-I 

Time : 2 Hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Attempt any four questions, 
including question no. 1 which is compulsory. 

1. 	Answer any two of the following : 	 7+7 

(a) What is materiality concept of accounting ? 
Explain its accounting implications with 
examples. 

(b) Explain the functions of accounting. 

(c) State the reasons that lead to disagreement 
in the balances of Cash Book and Pass Book. 

(d) Define Bill of exchange. Prepare an 
imaginary speciman of a bill of exchange. 
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2. 	There was a difference of Rs. 525 in Trial Balance. 12 
It was transferred to credit side of suspense 
Account. Later on, the following errors were 
discovered. Pass the rectifying journal entries and 
prepare suspense Account. 
(a) An amount of Rs. 375 has been posted on 

the debit side of commission account instead 
of Rs. 275. 

(b) Goods of Rs. 200 purchased from Ram has 
been posted to his account as Rs. 250. 

(c) Total of Sales Return book was over cast by 
Rs. 475. 

(d) Goods of Rs. 300 were sold to Mahesh, was 
recorded in purchase book. 

	

3. 	Distinguish between : 	 4+4+4 
(a) Outstanding expenses and unexpired 

expenses. 
(b) Normal loss and Abnormal loss. 
(c) Provision for discount on debtors and 

provision for discount on creditors. 

4. A company had bought machinery for 12 
Rs. 1,00,000 including therein a boiler worth 
Rs. 10,000. Depreciation is provided @ 10% p. a 
on written down value method. During the 5th 
year the boiler became useless and the same is 
sold for Rs. 2,000. Prepare Machine account for 
5 years assuming that the Boiler was sold on Is' 
day of 5th year. 
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5. (a) Distinguish between consignment and Joint 6+6 

Venture. 

(b) How is valuation of closing stock in 

consignment accounts done when abnormal 

and normal losses occur simultaneously ? 

Explain it with an example. 

6. (a) What is a secret reserve ? State the various 6+6 

ways in which it is created. 

(b) Ascertain the cost of goods sold and gross 

profit from the following figures 

Stock at the beginning 

Purchases less Returns 

Carriage Inwards 

Cartage and Freight 

Carriage Outwards 

Direct Wages 

Sales less Returns 

Closing Stock 

Rs. 

60,000 

6,00,000 

20,000 

10,000 

30,000 

50,000 

12,00,000 

40,000 
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6+6 

(b) 	r-p—tron_qd 3T 	37417 TIT a . 	4-11(1 

1141c1 N1 tiaic1 chat 

1̀T- • 	 60,000 

sbq (TER:ft Ndlcht ) 	6,00,000 

	 1171 	 20,000 

	

c4111 TO1. 	 10,000 

F-141c1 1-11c1 	 4Tf T 	 30,000 

cal 1170 	 50,000 
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3t1:1 ch 	 40,000 
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ECO-2 	 5 	 P.T.O. 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

